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SN B SA(SH) - NRAY - B 03] &+ o ol o HIRE2
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= 2,131,270 2,116,270 15,000

& 2,400,000 2,122,000 278,000

p) 4,778,000 4,278,000 500,000

2 168,000 168,000 0

Al 29,537,471 29,736,984 A 199,513
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= 606,400 591,400 15,000

= 1,900,000 1,622,000 278,000

&2 168,000 168,000 0

Al 7,348,897 7,548,410 199,513

A4S 23Ad X# 4,484,097 4,683,610 199,513

2 168,000 168,000 0

Al 4,316,097 4,515,610 A 199,513

401 AIEHIZL 20U 900,487 1,100,000 A 199,513

01 Al£Hl 900,487 1,100,000 A 199,513

SAMEs2 HE (M HRPHAE)

& & 800,487,000& 800,487 1,000,000 A 199,513

QITtALY E2XI=2(BTL) 1,864,000 1,586,000 278,000

& 900,000 622,000 278,000

Al 964,000 964,000 0

308 AHXIEHSOIA 1,864,000 1,586,000 278,000

= 900,000 622,000 278,000

Al 964,000 964,000 0

01 MXEHHMBdELS 1,864,000 1,586,000 278,000

BSZW=3 BTLALE 278,000 0 278,000

= 278,000 0 278,000

S4H2AIE0l=2 HE 2,500,000 2,500,000 0

= 1,000,000 1,000,000 0

Al 1,500,000 1,500,000 0

401 Al&HI YL SO 0 2,500,000 22,500,000

= 0 1,000,000 21,000,000

Al 0 1,500,000 A 1,500,000

01 Al£HI 0 2,500,000 22,500,000

S H2AE0Is2 HE(HsHEY) 2FH 0 0 2,500,000 22,500,000

& 0 1,000,000 21,000,000
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408 THXIEHSTH=OIH 2,500,000 0 2,500,000
z 1,000,000 0 1,000,000
Al 1,500,000 0 1,500,000
02 21 2SOCHEHCHE A HI 2,500,000 0 2,500,000
A H2AZ0IEE AY(DHSHH)
Z& 2,500,000,000& 2,500,000 0 2,500,000
& 1,000,000 0 1,000,000
Al 1,500,000 0 1,500,000
O EoAE e K& 15,000 0 15,000
= 15,000 0 15,000
402 QI2EHE01H 15,000 0 15,000
= 15,000 0 15,000
01 2IEAEE X 15,000 0 15,000
2011 At 23tAIE2 ZOHAEAAL HHXI 15,000 0 15,000
= 15,000 0 15,000
Stoll=X& L ACIEO = 28,991,444 28,491,444 500,000
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Il 4,778,000 4,278,000 500,000
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Il 500,000 0 500,000
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Il 500,000 0 500,000
01 MXEHHBdEELS 500,000 0 500,000
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= 4,144,851 3,866,579 278,272
= 1,650,000 1,650,000 0
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Al 12,246,704 11,286,704 960,000
S IINE 23 2+F4| 5,884,859 4,884,859 1,000,000
= 3,413,700 3,413,700 0
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Al 2,471,159 1,471,159 1,000,000
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ANXEEZSH 2=3H| 6,637,000 6,677,000 A40,000
= 500,000 500,000 0
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= 500,000 500,000 0
Al 5,732,000 5,772,000 A40,000
01 XXIEMA2E=x 6,232,000 6,272,000 A40,000
2= AUOtE == FHI 0 40,000 240,000
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= 278,272 0 278,272
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= 278,272 0 278,272
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=PSPNES 1,624,680 1,658,680 A 34,000
BEXE 1,624,680 1,658,680 A 34,000
311 X S0|XtHaks 124,680 158,680 A 34,000
04 SIS0 KHAHE 124,680 158,680 A 34,000
2425l A ('8HE)
a8 124,680,000 124,680 158,680 A 34,000
NE(Z2DEXZ BHEt) 117,576 113,659 3,917
SE2SHM oL E EFH| BtE3 3,917 0 3,917
802 HtEt=2DIE} 3,917 0 3,917
01 =2 Xx326te3 3,917 0 3,917
SEESHM CHUHE B3 H|l & SHAH 3,917 0 3,917
WNENE NA(NF/FOLEESSUR) 3,206,900 3,505,800 A 298,900
TN ES Y AL A KE A3
I=n E“/\‘|_;c|:6 = ABIAHIA X 3
L xES UR)
= 14,000 312,900 A 298,900
Al 3,192,900 3,192,900 0
X & 3,206,900 3,505,800 A 298,900
AUXE 1 AQ10Y SSEAS U
golde SHEX 1,92 A
= 14,000 312,900 A 298,900




Rk
D DI N (RE/K0H
Sl

X ZH
o=

Z3t0l=1t

He
Pl
O
oin
EJ
1o

w=s X&
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Al 3,192,900 3,192,900 0
SA2 AR A 564,900 863,800 298,900
= 0 298,900 A298,900
Al 564,900 564,900 0
703 W=HSEE3HEES 564,900 863,800 298,900
= 0 298,900 298,900
Al 564,900 564,900 0
01 WEHISESAHNEES 564,900 863,800 298,900
WEH SN2 AL HFE
d& 298,900,000& 298,900 597,800 A298,900
= 0 298,900 A298,900
Al 298,900 298,900 0




